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8. HFITHRT FT TR 45° aﬁaﬁwﬁaﬂﬁw Construct an angle of 45° using compass.

2. feguant fommn a(bﬁ?ﬂwaﬁf@ ? What is the sum of a and b in the given figure.

2]

[1]



3. A T AT agfgaaﬁ gsc géaila [ENEGIRY a@:@‘é[ | Write the two characteristics of
2]

rectangle and parallelogram.

¥, Taguent sTepfeenea 3T{eq STrehideten! T T&erd | Write the name of congruent shapes
among the following shapes. [1]

A 4cm B W 3em X p Aem 9
E E -
D C z Y S R

4. fesTenl ﬁ[‘gvlchl it T &shet o II3JRH | Find the perimeter and the area of the given
[2x1=2]

triangle.




() %ﬁfﬁlﬁ &% (Area of triangle)

Q) ﬁﬂﬂ?l gfcfufe (Perimeter of triangle)

§. YSHETh! HTIWH &6 48 T &.HT. TIATE 10 T.HT, Y 3G Hid & ? Find the volume of

a cuboid whose area of the base is 48 cm” and height is 10 cm. [1]

o, SZTEGTHT 4 31T TNHIGEE T 4 ST HAees T 9 fohTiIeesh! HSEIT hid g, TEfery |

There are 4 vertices and 4 faces in a tetrahedron. Write the number of edges. [1]



¢. T P(2, -3) TS X-3T&THT el et si~1 Sfcifsresre! fE2Igeh i §7 ? What is the image of

the point P(2, -3) after reflection on X-axis? [1]

?. w32 fE. 1% 18,000 AT T % 16,200 1 forshl et et FfcreTd e g 2 o=l S Te | Find

the loss percentage when a T.V. was bought for Rs. 18000 and sold for Rs. 16,200. [2]
%o, 5123%3?‘14@35%@?Whatis the cube root of 512? [2]



82, AT 15 ST ATE ol T32T M 12 TS 7 e i &1 i 18 T Tient S shicr wie
AT Tt 2 If 15 people can do a piece of work in 12 days. How many people will require to

complete that work in 18 days? [2]
%3. @USHTT e | Factorize. 2]
x” +11x + 30
%3, B e | Simplify. 2]

x4a—4b X x4b—4c X x4c—4a



2. ATCTHTHT fEgTaRT STHHRICITS SIgeary =M1 S@STRY | Show the given information in

multiple bar diagram.

2]

TelgE (Games) B HgEAT (Number of boys) | SHT HSEAT(Number of girls)
e (Football) 10 6
feRehe (Cricket) 8 6
SrhaA(Basketball) 5 9
afetsral(Volleyball) 8 10




4. 98 A={2, 3, 4} Eal FHI gﬁ U1 UHE Fmtor T@Tﬁ'{{l Construct an equivalent set of

A={2,3,4}. [1]
28, (2x — 3)° T foredRId 9T Tefa ¥ | Write (2x — 3)” in expanded form. [2]
u.x —2y=4 EARSECUEE! R9|‘°-\136|H\| Draw the graph of x -2y =4. (2]




